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- mMEBEZHRLE BRAMEKN/m E=ABmE R X i ERAMEKN/m EHEES ZHT-Y. LY = i —r
(B) WA EZRENI AT HBEDLEEDESm (F) DM EN - T HIBE DT EEDEE(m) %iwwf’;fégfﬁf’t‘ﬂﬁ%%ﬁ_ﬁ jﬁﬁ AT TE i HEN HEAHE
(C) BB L5 HHM00kN/ M LU R DR B DI BID 1 D& ABEKN/m) (G) B AL T DR i DHFED 1 DB fEKN/ ) EMBEEHE S HRRLBEBHNIHALR
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A (B) (©) (D) (E) (F) (@) (H) (A) (B) ©) (D) (E) (F) (@) (H)
(1) - - 95.4 1.0 - - 12.5 2.5 - - 90.7 1.0 - - 125 2.5
(2) - - 80.5 1.0 - - 10.8 2.1 - - 75.9 1.0 - - 10.8 2.1
( 3) 118.8 1.0 991 1.0 - - 13.1 2.6 117.6 1.0 98.6 1.0 - - 13.1 2.6
( 4) - - 78.3 1.0 - - 12.3 24 - - 78.0 1.0 - - 12.3 24
(5) 102.9 1.0 100.0 1.0 - - 12.3 24 102.6 1.0 96.9 1.0 - - 12.3 24
(6 ) 108.6 1.0 100.0 1.0 - - 11.1 2.2 106.4 1.0 96.9 1.0 - - 11.1 2.2
(7)) - - 99.5 1.0 - - 10.6 2.1 - - 96.1 1.0 - - 10.6 2.1
( 8) 117.8 1.0 99.7 1.0 - - 10.6 2.1 115.2 1.0 96.2 1.0 - - 10.6 2.1
(9) - - 86.5 10 - - 8.8 18 - - 83.9 10 - - 8.8 18
(10) | 1364 1.0 99.9 10 - - 13.3 26 135.5 10 96.4 10 - - 133 26
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